ISV |
BENTUNIN

J_././/lol.:\_]:/-_j Y /}/4 JAY

22 STAINLESS COUPLE. A

| > .

5% YT yhXAR TSTAR

L (CPR-SSV) (CPR-SPV)

i EemageSSocket zemalse Plug

> PR-SSV PR-SPV

| P88 P89
A7 O 8 T7S507F2X

=2 (CPR-S8V) (CPR-SPV)

|L, 9 Male Socket Male Plug

255 CPR-SSV P88 CPR-SPV P89

7

r’\J}\J —auu 1}%3_)&;{;&;. R

F
=
7
7
e
v
F
“®
b4
J

STV ES E— Ry pO—=T— /2= )] Yo

SPEED CONTROLLER
AE—Rav~O—-5— ——RILINILD
(8CS) (RNAW)
SPEED CONTROLLER NEEDLE VALVE
SCS Pgo RNAW P92

84



VADAYTYr= FITTIHNG

—_— e =

= L)

MINIATURE FITTING

Pty T VI (P)

o B AN 9 | V2§ | V3 1 "—ZAZvTIb

(PAL) (PFTN)

Universal Elbow Hose Nipple

PAL P95 PFTN P96
AZ)\—YILFT« R—ZATIUR

(PAT) (PAFL)

Universal Tee Hose Elbow

PAT

P95

PAFL P96

L-ZI+ A5

[ R o e e J |V

(PAL-M5A) (PDN)
Il;-/ﬁgjl\lljlséfble P95 gg)rl\f Telescopic Hose Nipple P97
T-7IvA5T) IERARF

(PAT-M5A) (PN-M5xXM5L)
T-Adjustable Extension Joint

PAT-M5A P95 PN-M5xM5L P97
L-2=#4> —v7Ib

(PCL) (PNS)

L-Union Nipple

PCL P95 PNS P97
T-1=%> 7359

(PCT) (PPL)

ot p95 PPL P97
varAn PIAVE V) Jwoa

(TP) (PBS)

Teflon Packing Bush

™ P96 PBS P97
/3=y TIb Jwoa

(PTN) (PBS-1)

Tel icH Nippl Bush

Pﬁ_ﬁscoplc ose Nipple P96 Pgss_1 P97

85



AvJIL.A(CPR)

N AR

Features

@ FERRF 1T
No-leak type

@ - BERF ICRN DTV Y —)LikiE

W Vv MEER-BimiE

COUPLE.A(CPR)

Seal mechanism allowing no leakage at coupling/separating

Internal Construction of Socket, Part Materials

AN\/ati7a

s

h
Y
4 CPR-SSVXMS5C CPR-SSVXRc1/8~Rc3/4
A No. Z¥F  Name 8  Material No. Z¥F  Name 8  Material
®| 7IT5— Adapter suUs316 @ | SBUEXE Segment Snap Ring| SUS
®| OuvY O Ring J\A K> Viton @ | 79T5— Adapter SuUS316
®| Tvyv— Pusher sSUs316 ® | Tyvyv—iklLF— Pusher Holder SUsS316
@| oy O Ring X1 k> Viton @ | EXRYRTUVY Piston Spring SUS304
® | VTv hEE Socket Body SUS316 ® | OUvy O Ring XA k> Viton
® | EXNIRATUVY Piston Spring SUS304 ® | Vv hAE Socket Body SUS316
@| oOuvY O Ring J14 R Viton @ | VItvFr V-Packing J1 R Viton
AY—=TJ2AFU G Sleeve Spring sSuUs304 EX A Piston suUs316
@ | R—JL Ball sSuUS304 O =4 SIASE ) Piston Packing XA k> Viton
©| RU—T Sleeve SUS316 ©| OU>Y O Ring JXA K> Viton
@ | AU—TZA v FUUY Sleeve Stopring SUS304 0| Tvyv— Pusher SUS316
® | ZAU—TRTUVY Sleeve Spring SUS304
®@| "N—IL Ball SUS304
®| RU—J Sleeve SUS316
®| RU—TA v TUVS  Sleeve Stopring sSUs304
B TS JEER- - BaiE
Internal Construction of Plug, Part Materials
CPR-SPV XM5 CPR-SPVXR1/8~R3/4
No. Z¥#F  Name #E  Material No. 25 Name #ME Material
(ONAVIPZ " Valve Body sSuUs316 @ LTy F Valve Packing J\f k> Viton
@ | INVTRTVVT Valve Spring SUS304 @ | INVTRTUVT Valve Spring SUS304
® | TSIKK Plug Body SUS316 ® | TSIKIK Plug Body SUS316
@| oy O Ring I/ k> Viton @ | JNLTHRILY — Valve Holder suUs316
®| OUvy O Ring I\ k> Viton ® | VTR KwFUS  Valve Stopring SUS304
®| 759V vb Plug Socket SUS316 ® | INILTAEIEK Valve Body SUS316

86




B SIFMEER

Gross Construction

L Ruxss

Specifications

| AYTIL.ACPR)

W R ~LO

Recommended Tightening Torque

The content of the specification may vary depending on working condition.
UL TELBIISHUF T,

B ABERTHE

How to Designate

CPR - SSV

¥

HyTIL.AYU—XEES
COUPLE.A Series Name

iEnl

Part No. of Standard Type

Vv Socket
759 Plug

28R 7K
Air, Water, Oil
O~ 2MPa(20kgf/cm?)-/ULTE  Without Valve M5 05~1.0
0~1.4MPa(14kgf/cm?)---JVLTfF  With Valve R(PT)1/8 7~9
—10~150C (FEREET &) R(PT)1/4 12~14
(Not to be freezed) R(PT)3/8 22~24
MEARMIC K D HROEAHBREIBED GO ET DT RO LTHERAL T, R(PT)1/2 28~30

SR LI BT EEL,
BR&E U TIIFRHHDE. R/\FEDTEICT2~IEEICHELET,
RAUBICEY—ILT—TXIEY—IVEIEZ CERL EEL,
Please follow the recommended tightening torque.
Please use the seal tape or seal adhesive for R-screw.

x Mb5c

RUYrX
Screw Size
M5x0.8

1/8
174
3/8
1/2
3/4

87



VIwvh XX CPR-SSV - VI vh#X CPR-SSV

| AwTIL.A(CPR)

(unit : mm)
N
JTYRXZR
Female Socket
CPR-SSVXM5¢ M5X0.8 4.5 35.5 12 10 -
CPR-SSVXRc1/8 1/8 9 44.2 16 14 -
CPR-SSVXRc1/4 1/4 13 51.7 22 19 -
CPR-SSV XRc3/8 3/8 14 62.9 27 24 -
CPR-SSVXRc1/2 12 17 77.4 35 29 -
8 > CPR-SSV X Rc3/4 3/4 19 89.9 44 38 -
i
A KREECOVWTEBEULEDELZEL,
Be :j] ‘ Please inquire of us about mass.
= = ‘
S e Q CPR-SSVXM5c
J \HEX
A
v B
7
v
A A
—_— -
— o
B S SN | SVZaf S e | N,
e CPR-SSV XRc1/8~Rc3/4
Rc
HEX
(unit : mm)

VITwhA XA

Male Socket
CPR-SSVXM5 M5X0.8 4 35.5 12 10 -
CPR-SSVXR1/8 1/8 9 447 16 14 -
CPR-SSVXR1/4 1/4 13 52.2 22 19 -
CPR-SSV XR3/8 3/8 14 63.4 27 24 =
CPR-SSVXR1/2 1/2 17 78.4 35 29 -
S | CPR-SSV XR3/4 3/4 19 90.9 44 38 =
A A *EE(COVTEFBEVEDEL S,
i \ ~ Please inquire of us about mass.
— Q
CPR-SSV XM5
e I 2

HEX \L@L

/ . | | H CPR-SSVXR1/8~R3/4
R

88



JS5UXR CPRSPV - 75442 CPRSPV | v JIL.A(CPR)

(unit : mm)
TSITAR
Female Plug
CPR-SPV XM5c M5X0.8 4.5 29.5 10 -
CPR-SPV XRc1/8 1/8 9 34 13 -
CPR-SPV XRc1/4 1/4 13 41 17 -
CPR-SPV XRc3/8 3/8 14 52 21 -
CPR-SPVXRc1/2 1/2 17 63 26 -
—r CPR-SPV XRc3/4 3/4 19 74 32 -
A Bc XEBICOVTRBBMULEDE LT,
r_) Please inquire of us about mass.
H CPR-SPV XM5¢
HEX HEX
! B —
A
—
HEX B CPR-SPVXRc1/8~Rc3/4
(unit : mm)

TSTHR

Male Plug
CPR SPV CPR-SPVXM5 M5X0.8 4 29.5 10 -
CPR-SPVXR1/8 1/8 9 31 13 -
CPR-SPVXR1/4 1/4 13 37 17 -
CPR-SPV XR3/8 3/8 14 46 21 -
CPR-SPVXR1/2 1/2 17 59 26 -
e R CPR-SPV XR3/4 3/4 19 67 32 -
r : XBEICDOVTRBSELEDELEEL,
() Please inquire of us about mass.

Aﬂ*__ A

\ CPR-SPV XM5
HEX

HEX

(s

CPR-SPVXR1/8~R3/4

HEX





